
OMR-4043-172/OMR-4043-172   ご使用上の注意

OMA-4043-172及びOMA-4043-172Ⅱにおきまして、飛行中の振動によりフロートゴムを止めているねじが
緩む場合があります。本製品を安全に使って頂くために、ご使用される前に下記を参照に定期的に点検を行って頂
きますようお願い致します。

OMA-4043-172

(1)

(2)

フロントプレートを止めている ボタンキャップス
クリューM3×6、4本を外してフロント側のプーリ
ー（大）をベルトから外します。（図1）

フロートねじ4本を、六角レンチを用いて緩みがない
ことを確認してください。

OMA-4043-172Ⅱ
(1)

(2)

(3)

前側のフロートゴム取付ねじ4本を、六角レンチを用いて緩みがないことを確認してください。

フロントプレートを止めている、ボタンキャップスクリューM3×6、4本を外してフロント側のプーリ
ー（大）をベルトから外します。（図2）

後側のフロートゴム取付ねじ4本を、六角レンチを用いて緩みがないことを確認してください。（図3）

ボタンキャップスクリュー M3×6

フロートねじ

図1

図2 図3

ボタンキャップスクリュー M3×6

フロートゴム取付ねじ

フロートゴム取付ねじ

〒546-0003　 大阪市東住吉区今川3丁目6-15
電話 (06)6702-0225（代）FAX (06)6704-2722 TEL. (06) 6702-0225

FAX. (06) 6704-2722

6-15 3-Chome Imagawa Higashisumiyoshi-ku 
Osaka 546-0003, Japan                 

URL : http://www.os-engines.co.jp

Fig.1

Fig.2 Fig.3

To all the users of OMA-4043-172 and OMA-4043-172 II

It is reported that the fixing screws of the floating rubber can loosen from time to time during the flight due 
to vibration.  Check periodically the screws shown below and make sure that they are fasten tight.

Remove the M3 x 6 cap screws. Take out the front 
pulley (large) from the belt. (See Fig.1)

Fasten 4 pieces of the floating screws with a Hex 
wrench and make sure they are tight.

Fasten 4 pieces of the front fixing screw of floating rubber.

Remove 4 pieces of M3 x 6 cap screws. Take out the front pulley (large) from the belt. (See Fig.2)

Fasten 4 pieces of fixing screw of floating rubber on the rear. (See Fig.3)

Check the screws periodically.

Button Cap Screw M3x6

Floating Screw

Button Cap Screw M3x6

Rubber Retaining Screw

Rubber Retaining Screw


